[> with(LinearAlgebra):

0>]<0,0,0,0,1>|<0,2,4,3,4>>;
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> #Pivot in the 2,2 position, Current solﬁtion is (0,0,2,4,3,4).

W A N O

> Al:=RowOperation(A,[1,2],4):
A2:=RowOperation(A1,[3,2],1):
A3:=RowOperation(A2,[5,2],-1);
-11 0 4000 8
-2 1 10002
A3 = 00 11006
10 00103
20 -10012

> #Pivot in the 5,1 position. Current soIthion is (0,2,0,6,3,2)
> A4:=RowOperation(A3,5,1/2):
A5:=RowOperation(A4,[4,5],-1):

A6:=RowOperation(A5,[2,5],2):
A7:=RowOperation(A6,[1,5],11);
3 11
- — 1
00 > 00 > 9
1 0 O 1 4
1 1
47— 00 0 0 6
1 1
00 > 01 5 2
1 1
10 > 00 > 1
f> #Pivot in the 4,3 position. Current solution is (1,4,0,6,2,0);

> A8:=RowOperation(A7,4,2):

A9:=RowOperation(A8,[1,4],3/2):
A10:=RowOperation(A9,[3, 4] -1):
All::ROWOperation(Alo[ ,4] 1/2);
0000 3 425
0100 O 1 4
All={0 001 -2 1 2
0010 2 -1 4
1ooo 1 0 3

[> A:=<<-3,-2,2,1,0>|<-4,1,-1,0,1>|<0,1,0,0,0>|<0,0,1,0,0>|<0,0,0,1,
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